Let S={v |iOIl}. Let B={u} be a 1l-dement linearly independent subset of span(S). Then
u =2, 3V, for some a; F (all nonzero), where J, is some finite subset of | (with at least one element
since u, #0). Chooseany v, , where j,[JJ,. Then

span((S—{v,} U{u}) = span(s).

Now let B={u,,u,} bea2-element linearly independent subset of span(S) . Then u, =%, a,v,
for some a F (al nonzero), where J, is some finite subset of I. Since B={u,u,} is linearly
independent, then J,U J, has at least two elements, which meansthat J, —{j,} has &t least one element.
Thus we choose any v, , where j, 1J, ={j,} . Then

span((S—{v, v, }U{u, U} ) = span(s) .
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